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E is 10 Km to the west of I. C is 5 Km to the south of E. A is 15 km to the east of C. F is 10 km to the 
west of H. B is 5 km to the west of A. H is 5 km to the north of E. D is 15 km to the west of C. G is 5 km 
to the west of F    E, I के पश्चिम में 10 श्चकमी है। C, E के 5 श्चकमी दश्चिण में है। A, C के पूर्व में 15 श्चकमी है। F, 
H के पश्चिम में 10 श्चकमी है। B, A के पश्चिम में 5 श्चकमी है। H, E के 5 श्चकमी उत्तर में है। D, C के पश्चिम में 15 

श्चकमी है। G, F के 5 श्चकमी पश्चिम में है

Which of the following are not sitting in a straight line?
A. HEC B. CBA C. IFC D. GFH E. DCB

What is the direction of G with respect to A? 
A. South B. North C. North – West 
D. South – West E. South – East

B is in which direction with respect to C and at what 
distance? 
A. 10 km, West B. 5 km, East C. 10km, East 
D. 5 km, West E. none of the above 
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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar

सात श्चमत्र सात अलग-अलग शहर ों, झाोंसी, 
श्चदल्ली, ऊटी, श्चशमला, अमृतसर, लखनऊ और

भुर्नेश्वर का दौरा कर रहे हैं, लेश्चकन जरूरी

नही ों श्चक इसी क्रम में ह ों। झाोंसी जाने र्ाला

व्यक्ति, लखनऊ जाने र्ाले व्यक्ति के ठीक

ऊपर बैठा है। अमृतसर जाने र्ाले व्यक्ति और

झाोंसी जाने र्ाले व्यक्ति के मध्य केर्ल द 

व्यक्ति हैं। ऊटी जाने र्ाला व्यक्ति अमृतसर से

ऊपर है लेश्चकन अमृतसर जाने र्ाले व्यक्ति के

ठीक ऊपर नही ों है। श्चशमला जाने र्ाले व्यक्ति

और ऊटी जाने र्ाले व्यक्ति के मध्य केर्ल तीन

व्यक्ति बैठे हैं। र्ह व्यक्ति ज भुर्नेश्वर जाता है, 
र्ह श्चशमला जाने र्ाले व्यक्ति के ठीक ऊपर है।

श्चदल्ली का दौरा करने र्ाले और भुर्नेश्वर जाने

र्ाले व्यक्ति के बीच केर्ल एक व्यक्ति है
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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar
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How many people are visiting between the one who visits 
Ooty and the one who visits Bhuvneshwar? 
A. One B. Two C. Three D. Four E. None

Which of the following city is visited immediately before 
Delhi? 
A. Ooty B. Amritsar  C. Delhi  D. Bhuvneshwar  E. 
None

Which of the following cities are there between Jhansi 
and Amritsar? 
A. Shimla, Bhuvneshwar 
B. Ooty, Shimla 
C. Lucknow, Delhi 
D. Lucknow, Ooty
E. None of these
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Which of the following condition is correct regarding Amritsar with 
respect to Bhuvneshwar? 
A. There is one city between Bhuvneshwar and the one who visits 

Amritsar 
B. Bhuvneshwar is immediately above the one who visits Amritsar
C. All the above are true 
D. The one who visits Amritsar is the person immediately above 
Bhuvneshwar 
E. None of these

Which of the following cities is there exactly between Delhi and 
Jhansi? 
A. Amritsar B. Ooty C. Shimla D. Lucknow E. None of 
these
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. If all the letters in the words are arranged in reverse alphabetical order and then after all the 
word are arranged in alphabetical order from left to right, then which of the following word is 2 
nd from the right end thus formed? यश्चद शब् ों के सभी अिर ों क उले्ट र्णावनुक्रम में व्यर्क्तथित

श्चकया जाता है और श्चिर सभी शब् ों क बाएों से दाएों र्णावनुक्रम में व्यर्क्तथित श्चकया जाता है, त 

श्चनम्नश्चलक्तखत में से कौन सा शब् दायें छ र से दूसरे थिान पर बनता है?

A. PLG B. UND C. TNK D. NIC E. None of these 

In each word every consonant is changed to the previous letter in English alphabetical series 
then how many words have at least single vowels? प्रते्यक शब् में प्रते्यक व्योंजन क अोंगे्रजी

र्णवमाला के श्चपछले अिर से बदल श्चदया जाता है, त श्चकतने शब् ों में कम से कम एक स्वर ह गा?

A. One B. Two C. Three D. Four E. None of these
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In each of the word if we interchange the first letter with third, then the first letter with the 
second one, then which of the following is the third word according to English dictionary 
(answer in terms of original word)? प्रते्यक शब् में यश्चद हम पहले अिर क तीसरे से, श्चिर

पहले अिर क दूसरे से बदल दें, त अोंगे्रजी शब्क श के अनुसार श्चनम्नश्चलक्तखत में से कौन सा

तीसरा शब् है (उत्तर मूल शब् के सोंदभव में)?

A. NKT B. BEA C. DNU D. ICN E. None of these

If we interchange second letter with third and then first letter with third letter then what 
will be the value if we add all the place values of first letter in each word thus formed? 
यश्चद हम दूसरे अिर क तीसरे से और श्चिर पहले अिर क तीसरे अिर से बदल दें त इस

प्रकार बने प्रते्यक शब् में पहले अिर के सभी थिानीय मान ों क ज ड़ने पर क्या मान ह गा?

A. 30 B. 35 C. 40 D. 45 E. None of these
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.If we add all the letters place value in each word then which of the following word 
number is completely divisible by 9? 
यश्चद हम प्रते्यक शब् में सभी अिर ों का थिानीय मान ज ड़ दें त श्चनम्नश्चलक्तखत में से कौन
सी शब् सोंख्या 9 से पूणवतः श्चर्भाश्चजत ह गी?

A. BEA B. NKT C. DNU D. ICN E. None of these
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How many people are visiting between the one who visits 
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There are eight persons namely S, T, U, V, 
W, X, Y and Z lives on eight different floors 
from one to eight. Ground floor is number 1 
and top floor is number eight but not 
necessarily in the same order. X lives on 
odd number floor but does not live on 3rd 
floor. Z lives immediate below X. More than 
two person lives between Z and Y. There 
are six person lives between S and Y. V lives 
immediate above W but live below T. U 
does not live above X. W does not live 
immediate above Y. 

आठ व्यक्ति अिावत् S, T, U, V, W, X, Y और Z 
एक से आठ तक आठ अलग-अलग मोंश्चजल ों

पर रहते हैं। भूतल सोंख्या 1 है और शीर्व तल

सोंख्या आठ है लेश्चकन आर्श्यक नही ोंइसी

क्रम में ह । X श्चर्र्म सोंख्या र्ाली मोंश्चजल पर

रहता है लेश्चकन तीसरी मोंश्चजल पर नही ोंरहता

है। Z, X के ठीक नीचे रहता है। Z और Y के
बीच द से अश्चिक व्यक्ति रहते हैं। S और Y 
के बीच छह व्यक्ति रहते हैं। V, W के ठीक

ऊपर रहता है लेश्चकन T के नीचे रहता है। U, 
X के ऊपर नही ोंरहता है। W, Y के ठीक

ऊपर नही ोंरहता है। .
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There are eight persons namely S, T, U, V, 
W, X, Y and Z lives on eight different floors 
from one to eight. Ground floor is number 1 
and top floor is number eight but not 
necessarily in the same order. X lives on 
odd number floor but does not live on 3rd 
floor. Z lives immediate below X. More than 
two person lives between Z and Y. There 
are six person lives between S and Y. V lives 
immediate above W but live below T. U 
does not live above X. W does not live 
immediate above Y. 
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Who lives on floor number five? 
(a) U (b) S (c) Z (d) T (e) None of these

How many persons live between W and X? 
(a) One (b) Three (c) Five (d) Two (e) None of these

Who lives immediate above V? 
(a) Z (b) T (c) Y (d) W (e) None of these

Four of the following five are alike in a certain way based on the 
given arrangement and thus form a group. Which is the one that 
does not belong 
to that group? 
(a) Y (b) V (c) T (d) X (e) W

Who lives on 2nd floor? 
(a) X (b) S (c) U (d) Z (e) None of these
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(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusion I and II follow
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How many C’s are there in the alphabetical series which are immediately preceded by 
a vowel and immediate followed by consonant? र्णवमाला शृ्ोंखला में ऐसे श्चकतने C हैं

श्चजनके ठीक पहले एक स्वर और ठीक बाद में एक व्योंजन है?

(a) One (b) Two (c) Three (d) More than three (e) None of these

If all the vowels are dropped from the series, then which alphabet will be eighth 
from the left end? यश्चद श्ोंखला में से सभी स्वर ों क हटा श्चदया जाए, त कौन सा र्णव

बाएों छ र से आठर्ाों ह गा?

(a) C (b) B (c) N (d ) F (e) None of these

How many total vowels in the alphabetical series? र्णवमाला शृ्ोंखला में कुल श्चकतने स्वर

हैं?

(a) Five (b) Ten (c) Three (d) Nine (e) None of these
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How many Vowels are there in the alphabetical series which are immediately preceded by 
a consonant? 
र्णवमाला शृ्ोंखला में ऐसे श्चकतने स्वर हैं श्चजनके ठीक पहले एक व्योंजन है?

(a) One (b) Two (c) Four (d) More than Five (e) None

If the position of the 1st and the 14th alphabets, the 2nd and the 15th alphabets, and so on 
up to the 13th and the 26th alphabets, are interchanged, Then which alphabets will be 7th 
to the right of 10th alphabets from the right end? यश्चद पहले और 14र्ें अिर, दूसरे और 15र्ें

अिर और इसी तरह 13र्ें और 26र्ें अिर तक की क्तथिश्चत क आपस में बदल श्चदया जाए, त 

कौन सा अिर दायें छ र से 10र्ें अिर के दायें से 7र्ाों ह गा?

(a) A (b) C (c) N (d)B (e) None of these
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There are eight notes of different 
denominations i.e. 
1,5,20,50,100,200,500,2000 rupees which 
are arranged in a circular arrangement 
facing towards the centre not necessarily in 
the same order. 50 rupees note is arranged 
second to the right of 200 rupees note. Odd 
denominations note will not be immediate 
neighbour of 200 and 50 rupees note. There 
will be less than 100 rupee denomination 
note to the immediate left and immediate 
right of 100 rupees note except 1 rupee 
note. 100 rupee note is second to the left of 
5 rupees note. 2000 rupees note is second to 
the left 100 rupees note.

श्चर्श्चभन्न मूल्यर्गव के आठ न ट हैं अिावत

1,5,20,50,100,200,500,2000 रुपये ज 

एक रृ्त्ताकार व्यर्थिा में कें द्र की ओर

मुख करके व्यर्क्तथित श्चकए गए हैं जरूरी

नही ों श्चक इसी क्रम में ह ों। 50 रुपये के न ट

क 200 रुपये के न ट के दाश्चहनी ओर

दूसरे थिान पर व्यर्क्तथित श्चकया गया है।

श्चर्र्म मूल्यर्गव का न ट 200 और 50 रुपये

के न ट का श्चनकटतम पड सी नही ोंह गा. 
1 रुपए के न ट क छ ड़कर 100 रुपए के

न ट के ठीक बाएों और तत्काल दाएों 100 
रुपए मूल्यर्गव के न ट ह ोंगे। 100 रुपए का

न ट 5 रुपए के न ट के बाएों से दूसरे नोंबर

पर है। 2000 रुपए का न ट बाएों 100 रुपए

के न ट के बाद दूसरे नोंबर पर है।
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There are eight notes of different 
denominations i.e. 
1,5,20,50,100,200,500,2000 rupees which 
are arranged in a circular arrangement 
facing towards the centre not necessarily in 
the same order. 50 rupees note is arranged 
second to the right of 200 rupees note. Odd 
denominations note will not be immediate 
neighbour of 200 and 50 rupees note. There 
will be less than 100 rupee denomination 
note to the immediate left and immediate 
right of 100 rupees note except 1 rupee 
note. 100 rupee note is second to the left of 
5 rupees note. 2000 rupees note is second to 
the left 100 rupees note.
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Which rupee note will be arranged to the immediate left of 50 
rupees note? (a) 100 (b) 2000 (c) 500 (d) 5 (e) None of these

Which rupee note will be arranged to the third to the right of 5 rupees 
note? 
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these

What will be the sum of note which is immediate left of 50 rupees note 
and immediate right of 500 rupees note? 
(a) 2100 (b) 550 (c) 700 (d) 2200 (e) None of these

Which denomination note are between 1 and 100 rupees note, when 
counted clockwise from 1 rupee note? 
(a) 5 and 20 (b) 50 and 100 (c) 200 and 2000 (d) 1 and 500 (e) None of 
these 

Which rupee note will be arranged to the third to the right of 2000 
rupees note?
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these 
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If all the digits of numbers are arranged in ascending order within the number, then which of the 
following is lowest number? यश्चद सोंख्याओों के सभी अोंक ों क सोंख्या के भीतर आर ही क्रम में

व्यर्क्तथित श्चकया जाता है, त श्चनम्न में से कौन सी सबसे छ टी सोंख्या है?

(a) 975 (b) 649 (c) 834 (d) 563 (e) None of these

If 1st digit of highest number is divided by 2nd digit of 2nd highest number, then what will be the 
resultant? 
यश्चद सबसे बड़ी सोंख्या के पहले अोंक क दूसरी सबसे बड़ी सोंख्या के दूसरे अोंक से श्चर्भाश्चजत श्चकया जाता

है, त पररणाम क्या ह गा?

(a) 2 (b) 3 (c) 4 (d) 5 (e) None of these

If 2 is subtracted from the every even digit and 1 is subtracted from every odd digit number of 
each number, which number among them will be lowest number? यश्चद प्रते्यक सम अोंक में से 2 

घटाया जाता है और प्रते्यक सोंख्या की प्रते्यक श्चर्र्म अोंक सोंख्या में से 1 घटाया जाता है, त उनमें से

कौन सी सोंख्या सबसे छ टी सोंख्या ह गी?

(a) 834 (b) 427 (c) 563 (d) 649 (e) None of these
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What is addition of 3rd digit of highest number and 2nd digit of lowest number? सबसे बड़ी सोंख्या के

तीसरे अोंक और सबसे छ टी सोंख्या के दूसरे अोंक का य ग क्या है?

(a) 7 (b) 6 (c) 4 (d) 3 (e) None of these

If 1st digit of 2nd highest number is divided by 1st digit of lowest number, then what will be the 
resultant? यश्चद दूसरी सबसे बड़ी सोंख्या के पहले अोंक क सबसे छ टी सोंख्या के पहले अोंक से

श्चर्भाश्चजत श्चकया जाता है, त पररणाम क्या ह गा?

(a) 5 (b) 3 (c) 2 (d) 4 (e) None of these

If 1 is subtracted from each even number and 2 is subtracted to each odd number in the number 
5827936, then how many digits will appear twice in the new number thus formed? यश्चद सोंख्या

5827936 में प्रते्यक सम सोंख्या में से 1 घटाया जाता है और प्रते्यक श्चर्र्म सोंख्या में 2 घटाया जाता है, त 
इस प्रकार बनी नई सोंख्या में श्चकतने अोंक द बार आएों गे?

(a) Only 7 (b) Only 5 and 7 (c) 1, 5 and 7 (d) 4, 5 and 9 (e) None of these 
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How many letter will be remain at the same position in the word ‘SURFACE’ when they are 
arranged in the alphabetical order from left to right? 

शब् 'SURFACE' में श्चकतने अिर समान थिान पर रहेंगे जब उन्हें र्णावनुक्रम में बाएों से दाएों

व्यर्क्तथित श्चकया जाएगा?

(a) four (b) Three (c) One (d) Two (e) None of these 
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There are five person i.e. P, Q, R, S and T. If Q is taller than R and S but smaller than T. S is 
smaller than T, who is not the tallest. Then who is the tallest person among all? 
पाोंच व्यक्ति हैं अिावत P, Q, R, S और T। यश्चद Q, R और S से लोंबा है लेश्चकन T से छ टा है। S, T से
छ टा है, ज सबसे लोंबा नही ों है। त सभी में सबसे लोंबा व्यक्ति कौन है?

(a) T (b) Q (c) S (d) P (e)None of these
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How many pairs of letters are there in the word “SENATOR” which have as many letters 
between them in the word as in alphabetical series? 

शब् “SENATOR” में अिर ों के ऐसे श्चकतने ज डे़ हैं श्चजनके बीच उतने ही अिर हैं श्चजतने श्चक

शब् में र्णावनुक्रम में हैं?

(a) None (b) One (c) Two (d) Three (e) Four
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Eight friends A, B, C, D, P, Q, R and S are sitting in a 
straight line (but not necessarily in the same order). 
Some of them are facing south while some are facing 
north.(Note: Facing the same direction means. If one is 
facing north then the other also faces north and vice 
versa. Facing opposite directions means. If one is 
facing North then the other faces south and Vice 
versa). Q sits at one of the extreme ends of the line. C 
sits third to the left of Q. B, is not an immediate 
neighbour of Q. P, sits third to the right of C. A faces 
north. D sits to the immediate right of P. D does not 
sits at any of the extreme end of the line. Only one 
person sits between R and B. P sits second to the left 
of R. S sits second to the right of D. Both the 
immediate neighbour of P faces the same direction to 
each other. Both the immediate neighbour of C faces 
the opposite direction to each other. S faces the same 
direction as D and A faces the same direction as R

आठ श्चमत्र A, B, C, D, P, Q, R और S एक सीिी

रेखा में बैठे हैं (लेश्चकन जरूरी नही ों श्चक इसी क्रम

में ह ों)। उनमें से कुछ का मुख दश्चिण की ओर है

जबश्चक कुछ का मुख उत्तर की ओर है। दश्चिण

और इसके श्चर्परीत)। Q पोंक्ति के श्चकसी एक

अोंश्चतम छ र पर बैठा है। C, Q के बायें से तीसरे

थिान पर बैठा है। B, Q का श्चनकटतम पड सी

नही ों है। P, C के दायें से तीसरे थिान पर बैठा है।

A का मुख उत्तर की ओर है। D, P के ठीक दायें

बैठा है। D पोंक्ति के श्चकसी भी अोंश्चतम छ र पर

नही ों बैठा है। R और B के बीच में केर्ल एक

व्यक्ति बैठा है। P, R के बाएों से दूसरे थिान पर

बैठा है। S, D के दायें से दूसरे थिान पर बैठा है। P 
के द न ों श्चनकटतम पड सी एक-दूसरे के समान

श्चदशा की ओर उनु्मख हैं। C के द न ों श्चनकटतम

पड सी एक दूसरे के श्चर्परीत श्चदशा की ओर

उनु्मख हैं. S का मुख D के समान श्चदशा की ओर

है और A का मुख R के समान श्चदशा की ओर है
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Eight friends A, B, C, D, P, Q, R and S are sitting in a 
straight line (but not necessarily in the same order). 
Some of them are facing south while some are facing 
north.(Note: Facing the same direction means. If one is 
facing north then the other also faces north and vice 
versa. Facing opposite directions means. If one is 
facing North then the other faces south and Vice 
versa). Q sits at one of the extreme ends of the line. C 
sits third to the left of Q. B, is not an immediate 
neighbour of Q. P, sits third to the right of C. A faces 
north. D sits to the immediate right of P. D does not 
sits at any of the extreme end of the line. Only one 
person sits between R and B. P sits second to the left 
of R. S sits second to the right of D. Both the 
immediate neighbour of P faces the same direction to 
each other. Both the immediate neighbour of C faces 
the opposite direction to each other. S faces the same 
direction as D and A faces the same direction as R
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How many persons sits between D and A? 
(a) One (b) None (c) Three (d) Two (e) None of these

Who among the following pair sits at extreme ends ? 
(a) S, Q (b) D, Q (c) Q, R (d) S, R (e) None of these

Who sits third to the left of D? 
(a) R (b)B (c) Q (d) C (e) None of these

Who sits immediate right of B? 
(a) A (b) C (c) R (d) S (e) None of these

Four of the following five are alike in a certain way based 
on the given seating arrangement and thus form a group. 
Which is the one that does not belong to that group? 
(a) A (b) C (c) S (d) B (e) D 
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